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Questions on Lesson 1.3 HW?

Igok at 1-7 on pg. 20*

b = b T -3

Solve for the value of x.
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Groph 4= fog.x
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1.4 Pulling a Rabbit Out of a Hat
F\M\ A Solidify Understanding Task

I have a magic trick for you:

‘ V\\IU% + Pick a number, any number.
FO '\cho ns » Add6

Multiply by the result by 2
Subtract 12

praially: s
AK\%\/\B- 'II]'hE insb\-:‘\::r is the number you started with!

1]
@ SW \*Ch People are often mystified by such tricks but those of us who have studied inverse operations and

inverse functions can easily figure out how they work and even create our own number tricks.
X % 3 Let’s get started by figuring out how inverse functions work together.

@ 2013 www flickr.com/ohotas/lenn and Tanv Bat

For each of the following function machines, decide what function can be used to make the output

@ C. \\I e the same as the input number. Describe the operation in words and then write it symbolically.

Here's an example:

oy,

Output

fix)=x+8 fx)=x-8

In words: Subtract 8 from the

_*( 3 result

Mar 16-9:16 AM
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Input Output

’-;—’ 2 TNy ro- X
X
Ti-:-‘j In words: — bJ ‘5
£69=% -
Input E Output

CD C D

fx) = 2 fx) = \] X

In words:
Input Output
flx)= 2% fFix) =
In words:

Mar 16-9:17 AM
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4.
Input Output
flx) = Fi(x) =
In words:
5.
Input Output
—1 _
flx) = x-;—S &=
In words:
B.
Input Qutput
f)= (x-3)° ) =
In words:

Mar 16-9:17 AM
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Input

f)= 4-Vx

Input

March 16, 2016

Output

fx) =

In words:

Output

G mmp - 5

-
(D x= 2‘*— 1D
@ +10 + 10

(x+10)= 2°

9. Each of these pm\u
the xused in f~1(x)?

i) =

In words:

]
@
=
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=
3
=]
]
=
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]
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=
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=
]
4]
ﬁ..
E
P
]
—
w
=
="

10. In #6, could any value of x be used in f(x) and still give the same output from f~1(x)? Explain.

What about #77

11. Based on your work in this task and the other tasks in this module what relationships do you

see between functions and their inverses?
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Homework/Classwork

Finish 1.4

Oct 21-8:47 AM
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